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Please check whether you have got the right question paper
All questions are compulsory, each question has an mternal optlon

Cub

N.B: L.

2. Figures to the right indicate full marks:
3. Use of simple calculator is allowed..
4. Working notes should form part of the answer.
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[ Marks :'60 ]

With the help of following information is supplred by M/S-XYZ: Ltd. Complete the - 15
following Balance Sheet given below : e

A4F3662AC5TFTD38EAD99E583964001B

Liabilities 2 - Assets s R
Equity Shares Capital ? | Fixed Assets S
Reserves and Surplus ? | ‘Cutrent Assets
20% Debentures 5,00,000 | ‘Stock
Current Liabilities Debtors : o S
Sundry Creditors oy Cash and Bank Balance :
Provision for Tax " etk s
(Current Year) ; SR Rt U )
Total 415 00 018 S otals ?
Following information-is: avallable 2 :
a) Gross profit ratxo 1S, 25% and whrch 1§ 12 00 000
b) Operating expenses. (1nclud1ng Debenture mterest) 8,00 OOO
¢) Rate of Income Tax is 50 %.
d) Purchases and Salesa are on credit. basis.
e) Debtors Turnover Ratlo (Sales/ Debtors) =12times.
f) Creditors Turnover Ratio (Cost of Sales [ Credxtors) =12 times.
2) Earmng Per Share ?20 TSR -
h)’ 'Stock Turnover Ratli =10 tlmes
i) “Debt Equity Ratio 0. 25 l
) Current Rat10 24 l ‘
‘ ; OR
F: o Grven below are income statements of Three firms A, B and C. 15
s Partlculars AT SA (R) B (3) C®®)
- [ Sales SIS 12,00,000 15,00,000 18,00,000
Ry Varlable expenses ? ? ?
‘[«Contribution - 8,40,000 10,50,000 12,60,000
(--) Fixed Cost 1,40,000 1,50,000 2,60,000
Earnings before Interest and Tax 7,00,000 9,00,000 10,00,000
(=) Interest - - ~1,80,000 2,50,000 2,10,000
& %ol :Earning before" Tax ? ? ?
o (=) Tax 30% 1,56,000 1,95,000 2,37,000
o rProﬁt’afterTax . ? ? ?
‘ ff';;j:Calculate o
1) Operatmg Leverage 2)  Financial Leverages
3)  Combined Leverages of A, B and C Ltd.
TURN OVER
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2
7. Ultra Ltd. has the following capital structure : do g A
[ Particulars T in Lakhs
Equity Share P SASE
10% Preference Shares P (e
10% Debentures ey el 65 24
B Total Sl OO A8 o

The market of companies Equity share is ?701t is expected that the company would ‘

next year pay a dividend of ¥8.40 per shar’%:;o‘n’fhé»_faic“e value ofZ 10 . The company’s.

Growth Prospects are 5%; P.a. assumingt{:bfbdfatéftaxation'@ 35%. Yoii are required
to : STSTEIFTITES ST St
1) Compute weighted average cost kdf; capital based on the cXisting\capita‘l structure.
2) Compute‘the new composite wéighted average cost of capital if the company
raises additional capital of T60 Lakhs as undet : at
Particulars =~ B e e Lakhs™
Equity Shdte” 5 RN, SRR 119 & g
12% Preferenc eShares PR S , ; 10 ‘
9% Débén_turé‘sﬁ*“ PO U A RSN S
e oy R R L

ected Dividend f0.39.10 per Equity Share and

This would result '\ivp"ii_rjcj;easying' the ¢ X
/o 'the"aﬁticipated market price of the Equity

Leave the Growth rate unchanged at
shares would fall 0 ¥75. = =~

2. AditiLtd. hés»E'q‘uit’y‘s'hare c_z'ipitva'lv. 6f;:?3',(_)‘07,000“di\‘/ided in to shares of £100 each. It 15
Wishe‘\s‘ to-raise ﬁjirthe'r? 1",(_,.)0,000‘for Expansion cum moderation scheme.
- The ‘compai)yrp'lans the follo,Wing altern_a,tiveé.:
1) Byissuing Equity shares only.
‘ 7220,000b ssumgequlty ‘ 1r,;é's;§é't’nd 80,000 through debentures or term loan
. - Byraising ter n loan only 10% paa.
: ' ?40,000bylssumg , qulty shares and 60,000 by issuing 8% Preference
54 7 Shates, s S
“.“You zgr”vcf‘r‘eqqir‘\éd,tﬁoras‘t‘lgge'sjfg»zthe best alternative giving your comments assuming the
estxmated'EarnmgsBeforeInterest and Taxes (EBIT) after expansion is ¥50,000 and
coopefate rate of tax is 35%.
TURN OVER
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3. Venus and Paradise co. gives you the following information. Prepare Trading and Profit 15
& Loss Account for the year ended 31% March 2017 and Balance Sheet as on thatdate in . -

as much as possible :

Opening Stock e g 90;000
Stock Turnover Ratio 2 10 times
. Net Profit Ratio on Turnover , 15%
Gross Profit Ratio on Turnover ; : : 20%
Current Ratio - PO ST FoAE
Long Term Loan : :v SR : ? 2,00 000’ ;
Depreciation on Fixed Asseté_‘@‘ % .3 Fogr ?20,000
Closing Stock SO IK EF % 1,02,000
Credit period allowed by ‘the supn.liers, LT v. \ | L fnonth
Average Debt Collection Per1od TS SRR monthsb

On 31% March, 2017 Current Assets con31sted of Stock Debtors and Cash only. There
was no bank overdraft; All p/urchas:e\s Were made«-on eredlt. Cagh sales were 1/3 of credit
sales. | e SRS P NS
| OR
3. a) Flnd out the compound value ofan- annulty of ?1 for 5 years at 5% (Invested at 8

“the begmnmg of the year)

b). ‘f‘» "‘Followmg 1s the Capltal Struc ofa ﬁrm 7

I8 : " T A A NS R -3 Proportion
) 'Equity]Qapit‘al' F o AL 758,50,000 45%
Retained Eamings e 1,50,000 15%
Preference Share Capltal ¥ el 1,00,000 10%
‘:;Debts S PR 3,00,000 30%
S S Tl S ol 10,00,000 100%
PO fThe ﬁrm S after: Tax component cost of various sources of finance are as follows:

\. S0urces Cost

' Equ1ty capital 14 %

; iRet_gmed earnings 13%

_ |'Preference capital 10 %

-~ [Debts 45 %

& ?"C-é.l'eula/te weighted average cost of the firm.

TURN OVER
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a) State whether the following statements are true or false :

1)  Dividend on preference shares is fixed.

2) Compounding technique shows present value.

3)  Equity funds includes Debentures. &4

4)  Current ratio is also known as Acid Test Ratlo ' ‘

5) MM approach is essentially Net operatmg 1ncome approach; FES

6) Trading on equity is used to mcrease EPS.

7)  Liquidity is convertibility of mvestment in'to cash

8) Combined Leverages shouId be as low as p0551b1e

b)  Match the following : ' F g
Group ‘A’ Group B :
e Finance ; C ~ e To get doubhng perlod
e Ruleof72 . L A8 Operatmg Proﬁtablhty
e Life Insnran'ee S A o Life blood of Busmess
S RPN ’orgamzanon

. cOrﬁiso’s'ite-c@st,

T e fProtectlon Scheme

o ’quuxdlty

g ,’ o . Glltedged Securities

. _"Net Operatmg Pro ‘

‘ > _;Caonvertlblhty into Cash

& Goyemment Securi

o ~Risk of loss

Weighted average cost of

capital

Wnte Short notes on (Any 3)

S a) Functxons of Fman01al Management

) Form _of Investments

e) Cla551ﬁcat10n of Cost of Cap1tal

“OR

A4F3662ACSTFTD3SEAD99ES83964001B
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' Q.P. Code :09970
2 Hours Total Marks: 60 ;
N. B.: 1. All questions are compulsory
2. Figures to the indicate full marks
Q 1. a) Explain the roadmap of E-commerce in India 3 = 15 o
b) What are the benefits of E-commerce? '
OR

c) Explain the characteristics of Business to Business (B2B) - -
d) With help of diagram explain the E-commerce Sales Product‘Life.eycle :

Q 2. a) Elucidate the various reasons for bu11d1ng own Web31te Sads :" NG
b) Explain the arguments for (pros) Electronlc Data Interchange (EDI)
OR
c) Highlight the applications to Customer Relatlonshlp Management
d) What are the differences between the Conventlonal organlzatlon and the E- »
organization? Explain % u Sl ’

Q 3. a) Discuss the various techmques of E- marketmg S U N 15
b) Describe the arguments. against (cons) online shoppmg o)
OR- ‘ . : :
c) Elaborate the characteristics of E-payment service
d) Explain the operatxonal and credxt rlsks of | E-payment system

Q.4 A) Fillin the blanks thh ‘the help of proper optlon o
I. The ‘Zappos onlme shop 1s famous for --‘-_-e:---

05

a) Shoe & il b >0, cosmetlcs SR
b) Med101nes it Ny JeweIlery

2. eseenies : —e---:-.- is: one of the challenges of E-commerce towards customers
'a) Quahty Produet o o) Cost reduction

d) Best price and deals
type/s of E-CRM in 2002

) 4 N it c) Analytlcal
) Collaboratwe S0 ) All of these

o e Sy advertlsements are featuring a headline title destination URL and an
, 'optlonal photo , RN

@), Moblle 3 ~ . € AdMob

AR :_b) Flash ' “d) Reddlt

the secrecy of store digital data

c) Protect
d) Verify

3321695B20842B155E053B1185D4BB03
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B) State whether the following statements are True or False . - 058

India first came into commercial interaction with the online 'E{Comh;erce via the
IRCTC. ' : 5

2. Many of the people just visit the web page but do not necessarlly purchase
3. HTML is stand for Hyper Text Marketing Language : :
4. Linking objectives business strategies is one of the steps-in onlme marketmg
5. Defacing of website means store data and ﬁlesm the website

C) Match the Column SIS S FATEI WL
1. MILNET a) New technology in B-commerce =
2. Drone delivery b) Attack on Mlhtary Installation.
3. Payment Gateway S ) Mxhtary part of Network
4. Cyber terrorism PR Securlty tooIs S -
5. Secure Socket Layer (SSL) )8 Partlclpants 1n SET Protocol

Q 4. Short Notes (any Thréé;?), 0

Wb

Hacking 2,
Protect1on of cyber consurner 1n Indla :

Benefits. of eléotgo c signature -

3321695B20842B155E053B1185D4BB03
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[Time: 2 Hours] e / [MarksGO]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.:

Q.1 A. “Equilibrium level of income and output is determlned by the mteractlon ofaggregate demand and 08
aggregate supply function”. Discuss. e ; :
B. Examine keynes’ concept of inflationary gap. What causes lnflatlonary gap? v Sab 07
OR ; e CEty
C. Bring out the relationship between inflation and unemployment in'the short run s 07
D. Explain the trade off between inflation and unemployment in the long run wrth the help of Phllllp 3 08
curve, 5 ; .20 R Ll , :

Q.2 A. Explain goods market equnllbrlum W|th the help of 1S functlon What caises shlft in the IS function? 08

B. Explain money market equrllbnum and derlve M functlon What determmes the slope of LM function? 07
e o 2 OR S : ' :

C Examine the effect of i lncrease |n government spendmg and tax rates on mcome and interest rates in 08
the IS-LM model. = : WA e i A

D. Bring out the effect of monetary pollcy on lncome “fnd mterest rates |n the IS LM model. 07

e in\the5balance of payments. 08

Q.3
naltdis‘equilibrium with the help of 07
c Explam meamng of devalu)_'tlon and revaluatlon Examlne the elasticity and absorption approaches. 08
D. Examme the J- curve phenomenon followmg devaluataon or depreciation of the currency. 07
Q.4 ’,;A Select the correct answer and rewrlte the followmg statements 07

AL The total money value of goods and servrces ‘produced by the nationals during a given year is
e : ’known a3 L ; <

(il 5 ln developlng countnes measurement of national i income involves problems like ____
S Prevalence of non- monetlzed sector

[P.T.0]
DF85B2CAF8DDC703193679392AFC840B
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(iii) Gross Domestic Product in an open economy includes
a) C+l+G+X
b) C+I+G+(X+M)
c) C+H+G+(X-M)+(R-P)
d) None of the above

(iv) GDP deflator indicates
a) Nominal progress in the economy
b) Real progress in the economy
c) Rate of deflation in the economy
d) None of the above.

(v) Real interest rate explains changes m
a) Purchasing power
b) Moneyincome
c) Rate of inflation
d) None of the above

{vi) India ranks among :
a) Low human development group :
b) High human development group :
Very high human development group

08
"’:'Drs‘_"o'xpowerment ot’ wome II amprove GDI of a country
> : ey OR
erte Short notes on any three: =~ & 15
P (i)“ *Income-and expendlture methods of measuring national income

o (i) o HDrandits limitations -

i) Determmants of aggregate demand

) pli blhty;of IS- LM inindia for the period 1995-96 to 2005-06
o = Effect oftlg t money policy on the balance of payments

DF85B2CAF8DDC703193679392AFC840B
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N. B. : 1. All questions are compulsory
2. Figures to the right indicate full marks

Q 1. Explain the Features and Importance of the Research in theBu”sjness; ' _ 15 '
OR . & o, ST ;
a) Describe the Steps in the formulation of Hypothesis -~ - ' Reheuays Loy :
b) Explain in brief the Methods of Sampling - -~ =~ ST e A BB e
Q2. Elaborate the Methods of Primary data and Secondarydata. = =~ - ] 15
a) Explain the Stages in Research Process oy : : 07
b) Describe the Essentials of a good Questionnaire ‘ o v - 08
Q3. Explain in brief the Significance and Stages in Data Processing .~~~ 15
a) Describe brreﬂy the Measures of Central Tendency S : 07
b) Explain the: Precautrons to be taken in Data Interpretatron ol 08
Q. 4 A) State Wheft"herlthe "f_ollo‘Wirig ﬁstat,erheﬁtsyar*e»True or;Féﬂ‘se < 05
1. Null hypothesrs states that there rs 1o relatronshrp between two or more variables
2. ~Secondary ¢ data collectrOn i thiod i is-a.time.consuming process
3. -t-testis used-to. test hypothesrs when' sample size is less than 30
4 /»;Interlm report isa complete port covermg all aspects of the research study
‘5..‘

v Footnote is usually grven at he end of each chapter

| ‘B) Frll in the“blanks wrth the heip of proper option 05
L i anie researchids. also called as fundamental research.
= f a). 'Applied + ¢) Empirical

b)- Bas NN : d) Analytical
s = -1 efers o prevrous research studies, reference books and other published
X ,;sources '
S 2 ,a) Research Report ¢) Review of Literature
“.b): Research Desrgn d) None of these

Turn Over
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3. Research -------=eeeem-- is a logical and systematic plan for conductmg a research study
a) Hypothesis c¢) Report
b) Design d) Sample :
S —— is used to analyse difference between group means and therr assocrated ey
procedure. 5 e
a) Time series c) t-test
b) ANOVA d) z-test . ,
R e is cited in alphabetical order and not in chronologlcal order R
a) Footnote _ c) Bibliography -
b) References d) _En_dnotes e
C) Match the Following 5 ol 055
Group A Group B
1. Analytical Research &L ,1"a) Hlstogram S 3
2. Census Report ST 8 2Ty Flibles Questlonnarre
3. Unstructured Questronnarre FAE, S ©) Cause—Effect Relatronshrp
4. Graphic Presentatlon S S d) CMS
5. Citation Style - fg e ,e) ReglstraruGeneral“of Indla
Q 4. Write Shon Notes onany Three P T ST E LA S 15
1. Layout of Research Report ;
2, Amerrcan Psychologrcal Assocxatron (APA)
3.‘~*Footnotes and- Brbhography :
4 4, ~ Ethical Norms in Research :
5 f“”R“ le, of Computers in: Research
Turn Over
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